2 I X =lE PE
HKiF 5 2,100 120 89
FHKeg = 830 100 84
FHKREF Ir 910 100 84
#SP 1,520 95 91
EViR2% 20 143 143
HDthn% 500 85 76
INGg 400 72 62
A = 1,590 80 72
N FHOE 1,910 80 59
N FHOTR 1,830 75 62
IhHFy P 710 70 59
h—= 875 95 58
A—x EVY 110 67 67
H—HRSP 800 95 75
HEphh—= 210 70 69
INT 225 165 106
INT I 20 187 187
INTSP 70 165 161
Hpthd/NS 30 144 144
€9 1,240 300 230
SRR 20 220 220
g3 280 160 127
)X 100 130 109

HohEas 557 450 313
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80
1,270
350
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10
55
250
130
980
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510
280
730
30
250
120
350
200
670
120
36
430
140
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220
100
120
130

50
380
150
120
280
120
165
100

85
300

82
100
90
88
200
180
300
100
75

FE

191
61
83

110
42

380

150

109
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75

121
57
60
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74
85
75
82
98
157
239
60
64
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420
79
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